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Question Number : 1 Question Id : 3354726331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is India’s first satellite called? | WX % WIW JUE FT FAT AW 27

Options:

1. ® Mangalyan | §7ea=
o % Agni |

3. ¥ Aryabhatta | sEWZE
4. % Chanalcya | =0

Question Number : 2 Question Id : 3354726332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which state Government has instituted the Tansen Sarmman? | T T SER - T GUAT &1 ST & 57
Options:

1. ® Rajasthan | TFe=

2. % Maharashtra | AgWIE

3. % Tarmnil Madu | @ fIE'IFI§

4. ¥ Madhya Pradesh | Teamaar

Question Number : 3 Question Id : 3354726333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who discovered the phantom-limb syndrome? | $en-THa Fem & g e &7

Options:

1. % v 5 Ramachandran | 109 AT
= ® G N Ramachandran | =10 THET
2 ® v 5 Rao | fmETd

4 ® a5 Paintal | TUEUTH

Question Number : 4 Question Id : 3354726334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_hildren’s Film Society that produces feature films and short films for children was formed in =

Tohew &, S el & oy ST oAt o &y fhent 7 i #eT g, BmsgarmEsh 00
Options:
1. # 1953

2. ¥ 1955
3. % 1981
4. % 1968

Question Number : 5 Question Id : 3354726335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The &1l India Khilafat Conference was held in November 1913, Where was it held? | ST W FEeThT qre
eI 1919 H ST G oM Iy Hgl el 217

Options:
1. % aligarh | afeimg
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2. % Lucknow | #F&ET%

% % Lahore | AR
4. % Delhi | el

Question Number : 6 Question Id : 3354726336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

‘Civil Services Day’ is celebrated on _____________ of every vear. | fde @ fgaw, uga® a9
AT AT 8]

Options:

1.9 21st April | 21 aMa
2. % 13th April | 13 ama
= % 10th April [ 10 W&
4, % 11th April | 11 ama

Question Number : 7 Question Id : 3354726337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Elections to the local government bodies are made mandatory by which amendment? | 1o Faeq geT =g
TFTT Tt 2 [T o arf-aret @ T mar 87

Options:

1. % 7ond | 72d
2. ¥ 7ard | 73
3. % g4th | 644

4 ® g3rq ; 63

Question Number : 8 Question Id : 3354726338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

During which Governor General's rule, was the Indian Civil Service (1C5), introduced? | ToF Ta=T S & A6 &
T, AW e €T (e d i), I i e 217

Options:

1. # Lord Dalhousie | @2 Sdg
2. % Lord Rippon | @2 feod

= % Lord Wellesly | @12 ot

4. ¥ Lord Cornwallis | @12 Fi-alad

Question Number : 9 Question Id : 3354726339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who presented the first Union Budget of independent India? | ¥oa= AT @ Ugal a1 se o T far?

Options:

1. ¥ R K. Shanmukham Chetty | %, S@8 251
2. % John Mathai | J79 FaTE

3. % CD Deshriukh | €1 21 a9

4. % Morarji Desai | ARE=AT 20T

Question Number : 10 Question Id : 3354726340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

which of the following is NOT a direct tax in India? | AT § & @19 97 97T § 0oay 7 951 87
Options:

1. ¥ Goods and Services Tax | 67 Ud 901 3¢

2. % Incorme Tas | HTO#HT

3. % Gift Tax | JUER &

4. % Wealth Tax | HURT &

Question Number : 11 Question Id : 3354726341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

'Madhubani', a style of folk paintings, is popular in which one of the following states in India? | @@ =3 & 0@
AT, weeT IR § A § E o U T § Al 27

Options:

1. % Madhya Pradesh | HeT 0ar
2 % Uttar Pradesh | Zo¢ Ugar

= ¢ Bihar | Tgw

4. ¥ West Bengal | THH A

Question Number : 12 Question Id : 3354726342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

%@é‘?ms the first Chief Justice of the Madhva Pradesh High Court? | W23 U 3 ~IT6T & Tgel & ~TaTeis
Options:

1. # Justice G P. Bhut | =r=mgfd st di gz

2. ® Justice P.V. Dixit | ~Jramid ot g
3. % Justice A M. Khanwilkar | =I=id 0 UH Glieaded

4 ¥ Justice M. Hidayatullah | =T U0 EeRgeds

Question Number : 13 Question Id : 3354726343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which state is the largest producer of tobacco in India? | WRT § TelTg &1 Fadl S92T IcUTaw (e Fi 57

Options:
1. % Gujarat | =R
o " andhra Pracdesh | afer mear

3. % Tamil Nadu | TS

4. % Madhya Pradesh | T 0

Question Number : 14 Question Id : 3354726344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many caves are there in Udaygiri in Vidisha? | f&fgam & Igaimic § e qem 27
Options:

1.9 20

2 % 15

3. % 28

4 % 12
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Question Number : 15 Question Id : 3354726345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Name the tiger reserve of Seoni District? | et 7@ & 712 fead @7 93 =90

Options:

1. ® Kanha | &gl

2. % Panna | ugT

Z. % Bandhavgarh | 9TeETg
4+ Pench |t

Question Number : 16 Question Id : 3354726346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Vijayraghavgarh Fort isin _______ .| T T __ "l

Options:
1. % Katni | ®e-T

2 % Satna | 9dqr

3. % Jabalpur | SEAYY
4. ® Rewa | T&T

Question Number : 17 Question Id : 3354726347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is Veerangna Durgawati Sanctuary located? | ST gumm ST T e 57

Options:
1. ® Sagar | 9O

2. % Sehore | §ER
= ¥ Damch | ZAE

4. % Dhanakpur | &-FT

Question Number : 18 Question Id : 3354726348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The building famc:-us as Kin g_Edward Museurm has a library known as the _____ .| T UEaE SUETAT oF &0 H 0idg
TANT UF JEacrlad g = _____ & H T AT 21
Options:

1. #¥ Regional Education Institute Library | g5 19T S geaawtme
2 ¥ Central Library | #gia Qedw® o<

3. ® Eritish Library | i geamme

4 % Hindi Granth Library | TEar 77 qeae e

Question Number : 19 Question Id : 3354726349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the ammunition factory in Ehind District located? | g Fae # MaAT-9T% FREET Fg1 090 57

Options:
1. ® Gohad | MERE
2. ¥ Malanpur | AT

27th Dec 17 Shift 2



I % Ater | oapw
4 % Lahar | @g¥
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Question Number : 20 Question Id : 3354726350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many countries participated in the 2016 Kabaddi World Cup? | 2016 & Fag! & foad #7 § T gt & ot

ERICE RINCE
Options:
1. %8
2. % 10
3.9 12
4 % 14

eneral Maths and General Aptitude

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

335472179
2

Online
Mandatory
20

20

20

Yes

No

1
335472179
Yes

Question Number : 21 Question Id : 3354726351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A black and white photograph is 60% black and 40% white, respectively. If the ghotr:-graph is enlarged 2 times,

then the white gercenta 2 is: | T% HAT AT 9 F1aTg TH 6 0% TTaET T9T 40%

T AT R, 91
Options:

1. % 20%

2. % B0%
=% 00X

4. ¥ 40%

TiaT

21 =7 SR Y 2 T ARaT

Question Number : 22 Question Id : 3354726352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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IfA, B, C. D are distinct numbers from {1. 2, 3. 4} such that g—% = 1, then the value of BD
is:/afg {1.2.3.4} ¥ A.B.C.D5T Y Heldr3eldr G&a0 ¢ fF 2-S=1.ar BD

B P

& AT §
Options:
1.¥2
=z %3
3 % 4
4. % g

Question Number : 23 Question Id : 3354726353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 2% =128, then what is 2% ?/3fg 2= =128, a1 2=*1 &1 glam?

Options:

38
1.¥°

4. % 125

Question Number : 24 Question Id : 3354726354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Ifa-b=7, ab=30, then a+b="7 | Fza-b=7, ab=30, dTa+h="7

Options:
1. % 1%
= % 37
3% 210
4 % 13

Question Number : 25 Question Id : 3354726355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | 3Ha FF &

15, 28, 13, 5E, 22
Options:
1. % 27
= % 2B
3. ¥ 29
4 % 20
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Question Number : 26 Question Id : 3354726356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ABCD is a square of side 6 cm. If thelines CM and CN divide the square areas into three equal

parts, then the length of CMin cmis___ . /ABCD U @1 g foradhr &= 6 4o 81 afg
CM @ CN @IV gaf &7 &l died A e & fqenfaa a=dr §1 oM & awars
I # el

L W I
Options:
1 *® "u'llﬁ

o1
o Y

3 3413
4 % g

Question Number : 27 Question Id : 3354726357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The difference between 2 parallel sides of a trapezium is 8 m. The perpendicular distance between them is 24
1. If the area of the trapezium is 212 59 .m, then the longer of the parallel sidesis___ | Wﬂmfﬁ 2 AT
AT T STe¥ 8 WIS g1 I ST o Sl ol Fbelerd, 32T 24 WIS g1 IS THetr ®1 806 312 ol #IeC g, a1 GHIaC q=rsii #
el AT _____ &l

Options:

1. % 3

= ¥ 17

3. % 18

4. % 10

Question Number : 28 Question Id : 3354726358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 2% + x% — 3x — 3 is divided by 2x-1, then the remainderis: [/ If¢ 23 +x? - 3x -3 &7 2x-1

Y anfaa T aar ¢, a9 9w &
Options:

1. % x+2

=z % 15

3.9 -4
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4 % 5

Question Number : 29 Question Id : 3354726359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A train 200 mlong passes a pole in 10 sec. The sarme train at the same spead will cross a platform S00m I%I;#

in how many seconds? | UF 200 W2 Al WATST UF G4 F1 10 990 § U7 Fd1 51 J5f (el 391 T & 500 #Et
THTETH @1 T ST § T Sy

Options:
1. ® B0 sec

2 % 45 gar
= ¥ 3E sar
4 #® 25 gar

| B0 HErE
| 45 dFus
| 35 dErE
| 25 dEus

Question Number : 30 Question Id : 3354726360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the SP of an article is 1.5 times the CF, then find the profit %. | <7¢ U T6g &7 [&@d rd 30F ®4 Trd &1 1.5 747
2 1 ATH % AT F

Options:

1. % Z25% profit [ 25% A1
= % S0% profit | S0% &

3. % 150% profit | 150% A1
4. % 100% profit | 100% &A1

Question Number : 31 Question Id : 3354726361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
24 men can corrplete a work i 40 days, The number of men required to corrplete the work in 20 davsis____

| 24 e U w1 w1 40 Tt o quf @ @ 31 30 WAl | @1l w1 quf @ o T snaeme gt @ awar )
Options:
1. ¥ 28

o ¥ 32
3. ® 36
4. % 40

Question Number : 32 Question Id : 3354726362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A speed of 36 km per hour is the same as: | 36 TFrAT Aid o &1 7T 5o a7 &

Options:

1.9 10mjs | 10 Hlet/d%Fs

2. % 12m(s | 12 AT/ d%s

3 % 1296m|s | 129.6 At dFs
4, % 2600 m/s | 3600 Azt dFs

Question Number : 33 Question Id : 3354726363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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The present ages of three persons are in proportions 2:3:4. Five years ago, the sum of their ages was 39, Find
their present ages (in years)? | d19 sAhal &1 SGAN ST 2 0 3 0 4 % S0 | 21 Ul=r a9 O, Jeh! SI7 &7 ATh 39 2m
IR S AT T (90 H AT

Options:

1. % 12 vears, 18 vears, and 24 vears | 12d4, 18 a4 0z 24
2. % G years, 9vears, and 12 vears [ 6 a8, 9 e U 12 a9

3. ® 10 vyears, 15 vears, and 20 years | 10 @, 15 a9 09 20 99
4. % None of the above | 30w # & FE 51

Question Number : 34 Question Id : 3354726364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Leena is facing Morth. If she turns through an angle of 180 degrees in the clockwise direction, then she will be
i%néﬁ_ﬁﬁj AT 3o aﬂ?ﬂ@ﬂﬂﬂm‘ﬁ% m%;a“re?%mma‘ﬁmﬁ g0 BT ge Il e, daal ____ AR g

Options:

1. * HMorth | 39¢
2. % South | ZTE0T
3. % East | od

4. % West | TREH

Question Number : 35 Question Id : 3354726365 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which of the following is NOT a polynorrial? | Fafeiad # & @19 v agug 951 §7
Options:

| % 1% —2x +4x+3

2$f+x

Question Number : 36 Question Id : 3354726366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

V53 ) : VE—3
[fx= ——= _thenthevalueofx-8x+1is T
+54+3 TE— ¥5++/3

B, ar=<-8x+1aTm
HieT 2l
Options:

2 %1
390
4. % 32
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Question Number : 37 Question Id : 3354726367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The perfect square integer just succeeding 9584 is: | 9584 % St argad | gof =i qorfe &

Options:

1. % 9600
= ¥ 9804
2% 9625
4. % 9649

Question Number : 38 Question Id : 3354726368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 7x2 + 56x + 90 = 0, then (x +4)%is equal to: / TTE 7x2 +36x+90=0 &, dr (x+4)? =TF

ERAEES %:
Options:

1. ¥ 22|17
2 %5
3% 127
4 % 227

Question Number : 39 Question Id : 3354726369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A& can do a piece of work in 20 days and E in 20 days. In how many days the work will be completed if 4 and B
work together? | A Tw @ &7 20 Tt § T B 39 20 o ool ¢ wwaT 81 Al A 7B s 9T w7 w9 g, ar
et ot # ot g1 s

Options:

1. % 13days | 12 T4
2. % lddays | 14 ==
3. ® 15days | 15 TeA
4 ¥ 12days | 12 A

Question Number : 40 Question Id : 3354726370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The edges of three cubes made of metal are 3cm, 4cmand 5 crm. They are melted and formed in to a single

cube. Find the edge of the cube. | o1 & 0T §17 o1 & ToFame 3 941, 4 ST 3T S #6181 3¢ TWE&AT ¢ Uahel o= 7 A
T AT R ﬂ:rarr%mmmﬁ o

Options:

1. % 9cm | 9 BT
2. % Zcm ) 8 AT
3. % Fom | 7 HEAT
4 ¥ Gcm | 6 HAET

Gerneral Hindi
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Section Id : 335472180

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472180
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HETOTOT S g1 & -
Options:
1. v &
Z w9
3% 9T
4 * 7

Question Number : 42 Question Id : 3354726372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
St TaT TBRT W I ST, S wed E -

Options:

1. % TrermET

2. % fifEw T
3. ¥ TaiET amr
4, % HAmRidE W

Question Number : 43 Question Id : 3354726373 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TTed T G P ARG - ST FEaal & -
Options:

1. ¢ argae

2 % g

3. % @

4, % Tm

Question Number : 44 Question Id : 3354726374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g T TR -

Options:
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1.9 anfie
= % arfEe
3. % ameie
4. % aiE

Question Number : 45 Question Id : 3354726375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e ez 2 -
Options:

1. %7

2 %

3V @

4 %7

Question Number : 46 Question Id : 3354726376 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“BaT T OIIgAE! g # H/ ® T AT Y

Options:

1. % Feoir
2. v T
3 % arfg
4. % wgd

Question Number : 47 Question Id : 3354726377 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rt i =t 2wt ¥ T uw aes RE A @ wear e
Options:

1. v atfeeeg

2 % T

Z % i

4 % gfrd

Question Number : 48 Question Id : 3354726378 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

AT FATY fegE e H A A A ge
Options:

1. % F+fa

2 % go+Em

3 % dotlm

4 ga+ET

Question Number : 49 Question Id : 3354726379 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T W A Seg FH A S B ATE?
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Options:

1. % am

2. ® quEE

3. ¥ a3

4. ® A

Question Number : 50 Question Id : 3354726380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘T IO # T Mg g H H H@ T 57
Options:

1. % e

2. ¥ arETT

z % e

4. ® T

Question Number : 51 Question Id : 3354726381 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“RUT deg | g # F w9 AT e 87

Options:

1. % Jouey qAE

2 % e

3. ¥ e T

4, ® ity gumg

Question Number : 52 Question Id : 3354726382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Tia H AT GRTay @7 o e H # S ar
Options:

1. % srfoe o 15 =i arerT

2. ¥ g g e

Z. & T EeEr

4, ¥ AR =T

Question Number : 53 Question Id : 3354726383 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘BT W e T R H g R Ay
Options:

1. ¥ s

2 ® STeTel

3. % afadr

4 % STEwr

Question Number : 54 Question Id : 3354726384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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MTea Tofa= W & 51 27
Options:
1.¥ 2
2 ® 3
3% 4
4 % 1

Question Number : 55 Question Id : 3354726385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A A i e £ g

AT i g wit T =€ 28

H I AT A 51 T8 e gimu?
Options:

1. % sty e@wr

2 % IUAT AT

3. ¥ U SIEET

4. R IEgT STAET

Question Number : 56 Question Id : 3354726386 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T TaIFH g G - e
Options:

1. e

2. % amy

3 % Tim

4 % #rg

Question Number : 57 Question Id : 3354726387 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

“TwpeE Seg o Hel ATe-Tozdg W adEm
Options:

1. ¥ 17 + Faw

2 % 9+ TEw

3 % T + Fw

4 ® [T+ Tww

Question Number : 58 Question Id : 3354726388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T # T T o U 1 1 Seg-rE A -
Options:

1. ¥ g -|g

2. % gag-4mH

3 W TSI

4 ® FI-I
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Question Number : 59 Question Id : 3354726389 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Freq - FT At RRag ¥ -
Options:

1. % 39

o I+

2 ¥+

4 % d7+H

Question Number : 60 Question Id : 3354726390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T | U e -
Options:
1. % &
2 ® =
=« Earf
4, % AR FHE BT
Fural Econorry and Fanchavati Eaj
Section Id : 335472181
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 335472181
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726391 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Az per the Expert Group (Hangarajan panel), the estimated population (All-India) below the poverty line in

2011-12was ______ ) e A (O B W STgETR, 2011-12 H T T 3 Sk AT e (TR 5

Options:

1. % 309 million | 309 e
2. ¥ 363 million [ 363 e
3. % 264 million | 264 e
4. % 245 million | 248 e
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Question Number : 62 Question Id : 3354726392 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT an objective of promoting usage of MNeermn Coated Urea by Indian farmers? |
ﬂmﬁﬂﬁmﬁm:ﬁwﬂ%ﬁqﬁmﬁwﬁﬂaﬁméﬁmﬁﬁ%ﬁﬁ T FAT T J5aT 51 57

Options:

1. # Enhance availability of MNitrogen to crops | SAd! A A5 M 91 JU0AedT g5 11
= % Slow down release of fertilizer | Jeva FWT &0 T TWia- @1 & THT AT

3. ¥ Promote Urea rianufacturing cormpariies | T SauTa @il &1 ag a1 g1
4. % Recommend appropriate dosage of nutrients | W & T5T IHHT & GATG AT

Question Number : 63 Question Id : 3354726393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Whao is directly responsible for implementation of Rajiv Gandhi Watershed Management Mission at District

lewel? | T Tq¢ UT Trita e dieeds Aeafe Ham & Torameaad & 1600 ey &0 & &9 Soenardl 51T 27
Options:

1. # Chairperson of Zilla Panchavat | &1 t=maa &7 srega

2 ¥ CEO of Zilla Panchayat | R (e &1 g siame ! sfeeerir

3. ® District Collector | FwTeTar

4. % Watershed Management Officer | STetds Ware &

Question Number : 64 Question Id : 3354726394 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who armong the following CANMNOT becorme a mernber of any of the Panchayats? | TafeiEa # & @i, Tt off
TTT & Ha5d A1 & TFdT 57

Options:

1. % Member of Parliament | T9g 20

2. % Member of Legislative Assernply b @41 #1 vgeT
3. ¥ Member of Legislative Council [ eI=IiEs #1 d5qd
4. % Panchayat's elected representative | TETId &7 Haii=id Wid =Ter

Question Number : 65 Question Id : 3354726395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the estimated total number of 'Savings-Linked' 3elf Help Groups (SHG) in Madhya Fradesh as of 31
March 20157 | 31 O 2015 7% AT W d ¥ ‘oo -Triae’ Ta-agraal adg (TaTa &1 SAT-a gl Gl 47 57
Options:

1. # Less than 1 lakh [ 0% @19 9 &0

2 ¥ 2-Zlakhs | 2-3 @4

3. # 4-Slakhs | 4-5 @4

4 % More than & lakhs [ S @9 ¥ afde

Question Number : 66 Question Id : 3354726396 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Of the total area under certified organic farming in India, the share of Madhvya Pradesh alone was

approximately _____ percentage in 2010, | YR | WHTIOT SAfed SdT & T80 Fol SF6d H, alhel 72 Ues &7 e 2010
H T PIEEC R
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Options:
1. % 55
2 ¥ 40%
3 % 50%
4. % 320%

Question Number : 67 Question Id : 3354726397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Swarna Jayanthi Gram Swarczgar Yojana functioned on the concept of
SIETEITEOTT O T e dT &l

Options:

1. # Individual lending | =R FT0T
2. % 100% subsidy | 100% a{gH

3. ¥ Group lending | 99g 0

4 % Nil borrowing | 7 JHRT

Question Number : 68 Question Id : 3354726398 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

How many districts of the country are covered under MNREGS as of 20177 | 2017 % A= & afa7d, 34 % fora=
TR TRINEE

Options:

1. 685
2. % 650
3. % 530
4. % 500

Question Number : 69 Question Id : 3354726399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option-Orientation : Vertical

Correct: 1 Wrong: 0

Deen Dayal Antyodaya Yojana launched on September 25, 2014 is related to © | 25 fdex, 2014 & & g8 &H
T a—agaﬂc AT o & HaEd g

Options:
1. ¥ Women Empowerment | ATl Talfte @

2. ¥ Enhancement of livelihood opportunities through Skill Developrment in rural and urban arsas | 1 T &

STELT AT T WA T o Areem & o et § gy
3. ® Poverty Alleviation among SC[ST | SRR S U SIgeEIT STt & s & el Sege
4 % Food Security to aged persons in villages | WAl # g cdihal &1 =T 9T

Question Number : 70 Question Id : 3354726400 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The Rural Local Self-Government Cormrmittes corstituted b‘}.? Government of Madhya Pradesh in 1957 was
chaired by __________ | 1957 H e 3aT ST ST Tiad WTHT S Saeme- Siatd & rege

Options:
1. % Kashi Prasad Pandey | @1t mamg w2
2. % MP Dubey | TRUT.gd

2. % Ravishankar Shukla | Tiereee gqgam
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4, % ishol Mehta | a7 HgdT

Question Number : 71 Question Id : 3354726401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Madhva Pradesh Irrigation Act was enacted in ____________ | e uder g et o e
T T o

Options:

1.9 13931
2 % 1936
3. % 1956

4. % 1975

Question Number : 72 Question Id : 3354726402 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the World Banl:, only about ______ of the total agricultural land in India was reliably irrigated in

2010. | i o STEN, AT § ol FI8 0 R ATAT ______ B 2010 # Tererata 3 § TET germ om
Options:

1. ¥ 35%

2 ® 45%

3. % 55%

4 % 50%

Question Number : 73 Question Id : 3354726403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

45 per the Constitutional Provision, how will the Panchayat Samiti Chairperson be elected? | @eremi= HEeT o
ST, UITord | |l & Te<rs &7 ogTe el gim?

Options:

1. % Directly | uegs

= ¥ Indirectly | smeTy

% % Asdecided by the State Legislature | 7= [ Asd gwT i
4. ® Through co-operation | TganT & AEAH &

Question Number : 74 Question Id : 3354726404 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

which among the following is a NON-FARM loan being granted by MP State Co-operative Bank Ltd 7 | A2 084
T3 AR < THTHes &RT -9 # & 3 A7 TR-FiE 0 ma= ST 27

Options:

1. ¥ Loan for purchase of Fertilizers | Jie! &1 @org & fong s
2« Educational Loan | &féw o

2. % Agricultural production loan | T JeuTe 07

4. % Short term crop loan | SIEUTETE BEa

Question Number : 75 Question Id : 3354726405 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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The process of growing two or more crops sirmultaneously on the same piece of land is called: | Tt @T # 0w

AT T AT SITE WAl il Wd T Fed Wil @1 g weT AT
Options:

1. ® Drip Irrigation | 29 =ms

2. ¥ Mixed Cropping | ™ET Baa

3. % Share Cropping | AT B

4, % Sequence Cropping | WHE A

Question Number : 76 Question Id : 3354726406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following fruit crop is cultivated in the largest area in India? | =9 # & o0 & &1 G47, 9°T | Gaiise
& O T T g7

Options:

1. ® Guava | aTA&Eg
2. % Banana | &
3. % Apple | "9

4. 9 Mango | mH

Question Number : 77 Question Id : 3354726407 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is a monthly journal of Ministry of Rural Development? | TaEa # & @19 @7 qe qrei
eI Ty AT T AT A 57

Options:
1. % Gram Darpan | TH ZU0T
2 Kurukshetra | Fo53

2 ® Ssamvad | 99
4 ® vikas | @

Question Number : 78 Question Id : 3354726408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the provision for funding by Central Governrment under Saansad Adarsh Gram Yojana 7 | qHe, e
TTH DT o ST g, TACHTE ZWT Tt 2 T8 HETe &t & T &7

Options:

1. % 10000 crores | 10000 T
2. % 25000 crores | 25000 FIE
% % 50000 crores | 50000 TS,

4 ¥ No separate funds | 25T H GRS B HIE AT T8l 8

Question Number : 79 Question Id : 3354726409 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhat is the area targeted for Organic farming in 2016-17 under Paramparagat Krishi Vikas Yojana? | W

FI Tl e T o SfTid 2016-17 # SAfeie ST @ ol wia Shel 47 57

Options:
1. ¥ S lakh acre | & 7 U&s
2. % 4lakh acre | 4 7E THs
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3. % Zlakhacre | 3 7 THE
4. % 2lakhacre | 2 ¥ T&Hs

Question Number : 80 Question Id : 3354726410 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Under Mukhya Mantri Annapurna Yojana in Madhya Pradesh, Rice is supplied to EPL families at what rate 7 |
& HAT ST T o SFTE, Ta T T S ST F T TaR T ® e e 2 0 T AT 8

Options:

1. ¥ R5450] kg

Z % Rs3 kg

3. ¥ Rs250 kg

4. % Rs.1) kg

Cornputer Knowledge

Section Id : 335472182
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 335472182
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& computer that requests the resources or data from other cormputer is called as ________ cornputer. | @g
FHUET, AT S T | A a7 2127 % 6T e avaT e, _______ FEATT ol
Options:

1. ¥ client | FaEe

2. ® zerver | Ha

= % pperation | ST
4 # internet | TetAT

Question Number : 82 Question Id : 3354726412 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following option is used to recover files from a backup? | 9@l d BEAT ® @y @ & 7y
TrATeET o & Tore ToereT @7 SHanTe femar =maT 27

Options:
1. ¢ Restore | e
2 % Scan | g9
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I, ® Unerase | aMgi
4, ® Copy | @0

Question Number : 83 Question Id : 3354726413 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Firewall isa typeof _____________ | WA T I W i gl

Options:

1. % malware | AT

2. ¥ security systermn | T ey
= ¥ anti-virus | Ue-aEeg

4. % office software | ST ATt

Question Number : 84 Question Id : 3354726414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The brain of the cormputer system is the .| TR A 9T gieay® ECLH

Options:

1. ® operating systern | SR T FeEd

2 % power supply unit | 917 AGATE T

3. % information processing systerrl | %0 TR e
4 ' central processing unit | Hgs R AT

Question Number : 85 Question Id : 3354726415 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut key is used to enter current date in M5 Excel? | UATH UFad H ad 81 1o 12 %1 T # o Toiy fore
MEHe FT BT GEAATA T ST 57

Options:
1.9 Ctrl+:

2% Ctrl4)
3% Ctrl4
4. % Ctrl4+<

Question Number : 86 Question Id : 3354726416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is NOT a valid function in MS Excel? | FFHA # & o7 TAU Ugaa &1 U o B A5 57

Options:

1. % SUM

2. % COUNT
3. ¥ TOTAL
4 % DATE

Question Number : 87 Question Id : 3354726417 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is a search engine? | 7907 # & F47 UF Ff 97 27

Options:
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1. % vwryrw google.com

= # search@internet.in

3. % Internet Explorer | Soi-e UFa ARy

4. ¥ yrwrwr grmail com

Question Number : 88 Question Id : 3354726418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The abbreviation HTML stands for: | S HTML, 7= & 70 uggd giaT &

Options:

1. ¥ High Tech Machine Language | g8 ¢& Baf wraer

2. ¥ Hyper Text Markup Language | WWWSM ﬁﬁﬁq\
3. % High Tech Master Language | g% ¢& ATECT aiifd

4 % Hyper Text Machine Language | §EW qe B AT

Question Number : 89 Question Id : 3354726419 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
& group of 8 bits is knowr as

Options:

1. ¥ Evte | a5T

2. % Kilobyte | fataEe
3 % Nibble | e

4, % Megabryte | HEES

Question Number : 90 Question Id : 3354726420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following staterments is INCORRECT regarding Conditional Forrmatting in MS Excel 20077 |
O UFdd 2007 H, T2 e BIaTe ma Hee § o7 § & S 97 79 999 751 7

Options:
1. # vou can add more than one condition to check | 30 9= & o0 U & S1TERF a1d ST & A 5

2. ¥ You can set condition to look for Eold and apply Italics on thern. | M7 Aids fgE ot 39 W g io@d o &
ﬁq 13 Fereriiea @ a2

3 ® ‘fc:uu can applg_: fontaetirforder and patt%rn formats that meets the specified conditions | s ATEge s&t &1 QT
GEA STTTH T Thd

4. ® vou can delete any condition from Conditional Formatting dialog box, if it is not required. | @i seq@w®ar
F ET AT AT FE T BT SRIANT 15 ﬁﬁﬁﬁ&ﬁ“ﬂﬁ%ﬁﬁfaﬁﬂaﬁ%

Question Number : 91 Question Id : 3354726421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which cne of the following shortcut keys is used to open an existing document in M5-word 20077 | THIH a2
2007 ﬁnﬁgmqmj%aﬁ@aﬂﬂfﬁqﬁméﬁﬁﬁﬁﬁwmfﬁaﬁmmw

Options:
1. % CTRL + 5

o ® CTRL + N
S ¥ CTEL + O
4 ® CTRL +C
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Question Number : 92 Question Id : 3354726422 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A& cornputer on internet are identified by: | e A THICT T T T EEEIGIREIGN %:

Options:

1. ¥ [P address | omdl U029
2. % Home address | §A TS

3. % Cornputer location | HHIET AR
4. ® pdmin address | T2iiA 729

Question Number : 93 Question Id : 3354726423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which short cut key is used in MS-Word to Redo the last action? | TAUH 92 H SIfdy &7 &1 [T # % oy T a1
HE T T JTT T AT 57

Options:

1. % Ctrl+Z
2 % Ctrl+w
2. % Ctrl+K

4 % Ctrl4+Y

Question Number : 94 Question Id : 3354726424 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
key is used to renarmne file or folder. |

T, TTISe AT BIFST & (A0 F T o TNy SeaATe & =’ 3]

Options:
1. % F3
= % Fg
3. ¥ F2
4. % F4

Question Number : 95 Question Id : 3354726425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
& durmib terrrinal has a fan: | 0% SHa eii-d § FHA gar

Options:

1.p # Ernbedded microprocessor | U ST q0T AT5w M TEET

2. % Extenisive mernory | TEad e Hui

= % Independent processing capability | S5 MET WETET Sl
4 ¥ Keyboard and a screen | Fais 7 TF TR

Question Number : 96 Question Id : 3354726426 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To select several cells or ranges that are not touching each other, what would you do while selecting in M3

Excel 20077 | UHUH U 2007 H, I S Held AT &9 FT Geicpe @i & T, 57 7o To e o ek § -Ig1 g, S0 T hear?
Options:
1. % Hold down the Ctrl key | Ctrl et @1 ey &M
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2. % Hold down the Shift key | Shift 917 %1 gamg 7€M
3. % Hold down the Alt key | Alt i1 ®T gamg T&M
4 % Hold down Ctrl 4+ Shift key | Ctrl + Shift g1 %1 Zamg 7€M

Question Number : 97 Question Id : 3354726427 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

YDU. st install o on a networlk if WO wWAarlt to Shafﬁ a broadband Internet connection. | 2zlﬁ( T ﬂHEaE
STTT WA AT AT AR 8, o ST e Hedd I ______ B TA AT 5T
Options:

1. ¥ router | 71327
2 % modem [ A=A
3. % node | AiE

4 ® cable | dFad

Question Number : 98 Question Id : 3354726428 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What do you need for an inkjet printer? | S0HT 0% SHc Wex o o7 38 & Tomad smaseraT g

Options:

1. ¥ A cartridge | U% @12
2. % adrum | TFEH

3. % A ribbon | UF fa

4. % None of these | T78 # &1g 91

Question Number : 99 Question Id : 3354726429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following options in M5 Excel 2007 is available in Data tab? | M9WET # @ #19 97 Heew UATd UFad
2007 #, ST ¢a H IUAe 1T 57

Options:

1. ® Tables | ¥&wd

2. % Links | foed

= ¥ Sort & Filter | |1 &Y heet
4 % Charts | @Tgd

Question Number : 100 Question Id : 3354726430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the ‘Father of Cormputer’? | "HHIIET & T & 57

Options:

1. % augusta Adaming [ STHET ST
2 % Edward Robert | U242 Tae

3. ¥ Charles Babbage | DA sar

4 % allen Turing | Uad ST
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